Sydjamten
Partavling 2019-04-02

Partavling, 5 bord, 9 par. Antal brickor: 27. Medel: 81.0. Frirond (*) ger egen procent.

Plac Par Poéang % Namn MID Klubb
1 4 102.4 63.19 Alexander Sandin - Thomas Karlsson 41730 8958  Storsjobygdens BK
2 6 93.4 57.64  Erik Johansson - Kurt Jansson 46958 63430 Sydjamten
2 8 93.4 57.64  Bjorn Sjoberg - Pernilla Nas 16867 10428 Svegs BK - Storsjobygdens BK
4 10 86.6 53.47  Ronnie Zackrisson - Hakan Huss 92938 92939 Sydjamten
5 5 82.1 50.69 Mikael Moberg - Reine Lagerstrém 6138 33419 Hede-Vemdalen BK - Sydjamten
6 2 70.9 43.75 Sven-Olof Jonsson - Siv Lundin-Jénsson 86321 86322 Sydjamten
7 3 69.8 43.06 Lennart Arvidsson - Ann-Marie Borg 92421 92422 Sydjamten
7 9 69.8 43.06  Anders Eriksson - Valter Olofsson 6569 18064 Sydjamten
9 1 60.8 37.50 Lars Doverdalen - Kersti Elnerud 30015 35591 Sydjamten
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poéang
52 3NS+2 460 50 1.0| 52 24 O+1 -140 5.0 10| 46 3¢ N= 110 6.0 00| 63 44 O= -620 4.0 2.0
98 3NS+2 460 5.0 1.0{10 1 14 O+2 -140 5.0 1.0 98 3v0O-1 100 3.0 30| 84 44 V= -620 4.0 2.0
101 44 S+1 450 20 40| 46 24 O+3 -200 2.0 40({101 2¢v0O-1 100 3.0 30[10 2 44 O= -620 4.0 2.0
46 3NS+1 430 0.0 6.0|] 98 44 O= -420 0.0 6.0 52 1a V+1 -110 0.0 6.0 19 44 O+1 -650 0.0 6.0
-3 26| -3 26| -3 26| 5 - 3.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vast Ingen
Par  Kontr Res Poéng | Par Kontr Res Poéng | Par Kontr Res Poéng | Par Kontr Res
63 3NV= -400 6.0 0.0 19 44aDN= 590 6.0 0.0| 6 8 Pass 6.0 00| 68 3¢DS-1 -100 6.0 0.0
19 3NV+1 -430 2.0 40| 6 3 44 N= 420 40 20| 21 34 N-1 -100 2.0 40| 21 4v O+1 -450 2.0 4.0
84 3NV+1 -430 2.0 40(10 2 3v N= 140 20 40| 95 44 N-1 -100 2.0 40| 95 4v O+1 -450 2.0 4.0
102 3NV +1 -430 2.0 40| 8 4 54DO= -750 0.0 6.0(10 3 44 N-1 -100 2.0 40(10 3 4v O+1 -450 2.0 4.0
5 - 3.0 5 - 3.0 -4 38| -4 3.8
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang
21 2¢DN+1 280 6.0 0.0/10 4 3NO -5 500 6.0 00| 85 6y O+1 -1010 6.0 0.0(10 4 4v V-1 50 6.0 0.0
10 3 24 N+2 170 40 20| 16 2¢4DS= 180 40 20| 16 6NO+1 -1020 4.0 20| 8 5 Pass 4.0 2.0
6 8 2NN= 120 20 40| 32 2¢ S+1 110 20 40| 32 7v 0= -1510 2.0 40| 16 24 V= -110 2.0 4.0
95 4¢ N-1 -50 0.0 6.0| 85 3a«DV= -670 0.0 6.0(10 4 7NO= -1520 0.0 60| 32 34 V= -140 0.0 6.0
-4 38| -9 26| -9 26| -9 2.6
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par  Kontr Res Poéng | Par Kontr Res Poéng | Par Kontr Res Poéng | Par Kontr Res Poéang
81 3¢V-1 100 50 1.0 43 2NO-1 50 50 1.0[10 5 3NN+2 660 6.0 0.0 92 3NS+2 460 5.0 1.0
105 3NO-1 100 50 1.0 81 240-1 50 50 10| 81 4v S+1 650 40 20|10 6 3NS+2 460 50 1.0
96 2&V+4 -170 2.0 40({105 24 O= -110 2.0 40| 4 3 4v S= 620 1.0 50 54 2¢v0-2 200 2.0 4.0
43 34S-2 -200 0.0 6.0 96 INV+2 -150 0.0 6.0 96 4v S= 620 1.0 50 38 34S= 140 0.0 6.0
2 - 2.6 2 - 2.6 2 - 2.6 1 - 2.3
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poéang | Par Kontr Res Poang
92 44 0-1 50 50 1.0| 92 24 0= -110 6.0 0.0| 49 3vyDO-2 500 6.0 0.0| 49 44 0= -620 5.0 1.0
10 6 44 O-1 50 5.0 1.0{10 6 24 O+1 -140 4.0 20| 28 3NO-3 300 40 20| 65 44 O= -620 5.0 1.0
54 3NO+1 430 2.0 40| 38 34 O+1 -170 2.0 40| 13 2v0-1 100 20 40| 13 44 0+1 -650 1.0 5.0
38 44 O+1 -450 0.0 6.0 54 44 O= -420 0.0 6.0 65 34 N-1 -50 0.0 6.0| 28 44 O+1 -650 1.0 5.0
1 - 2.3 1 - 2.3 10 - 3.2 10 - 3.2
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poéng
49 3¢ N+3 170 6.0 0.0/10 8 3¢aDO-3 800 6.0 00| 24 2v V-2 200 6.0 00| 39 44 0-2 100 6.0 0.0
13 46 N+1 150 3.0 30| 39 340-3 300 40 20| 51 2¢0-1 100 40 20| 51 4vyN-1 -50 4.0 2.0
65 3¢ N+2 150 3.0 30| 51 24 0-2 200 20 40| 39 2¢ V= 90 2.0 40|10 8 34 O+1 -170 2.0 4.0
28 3vyDN-2 -500 0.0 6.0 24 2NS-1 -50 0.0 6.0|/108 2¢vO= -110 0.0 6.0 24 3vDN-3 -500 0.0 6.0
10 - 3.2 -6 35| -6 35| -6 35
25 Nord OV 26 Ost Alla 27 Syd Ingen
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang
41 44 S= 420 6.0 00| 41 3v0-1 100 40 20| 41 4vyDS-2 -300 6.0 0.0
35 14 S+3 170 3.0 30| 62 4v0O-1 100 40 20| 35 5¢ V= -400 3.0 3.0
6 2 24 S+2 170 3.0 30{109 4vO-1 100 40 20| 62 5¢ V= -400 3.0 3.0
10 9 INS= 90 0.0 60| 35 4v O= -620 0.0 6.0({10 9 4¢DV+1 -610 0.0 6.0
8 - 35 8 - 35 8 - 35
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